R=0,00m* W=11.34m?
PL=0,00m =
| km 0+000,00 N=0,00m?
odlegtosci [R g gl
istn. =] o =)
odlegtosci [R IS &)
proj. 2 S| S
o] (=] [e2
rzedne 2 o) ™~
istniejace [ 3 R
— | L |
o] (=) o)
rzedne % S| ~
projektowe| & 3 3
- i |
R=0,00m? I
PL=2,00m W=3.99m?
km 0+005,50 N=0,00rh?
odlegtosci |8 B 2 IS = gI
istn. 499 0| ol NN
odlegtosci £y S S 3 8
proj @ o ol NN
© [N [V fee] Te]
rzedne o ©f @ | ~N
istniejgce 83 3 3 3 3
~ i | | |
rzedne .‘i{ aFoi &) b=
projektowe 3 3 3 3
| | | |
R=0,00m?
PL=2,00m W=3.25m?
| km 0+006,87 N=0,00m?
odleglosci |8 8 S S IS
istn. 3 =1 | o o
odlegtosci =] 0 S Q
proj. <| | (=] oj|
(2] (=) o | o)
rzedne o < ) o] ™~
istniejgce @ 3 3 3 3
i | | | |
rzedne v,: 'Q. 9 =
projektowe] py 3 P py
i i i ]
R=0,00m?
PL=2,00m W=2.70m?
km 0+013,87 | N=0,00m?
odleglosai |~ o 9 8 12
istn. o <| | ] |
odlegtosci = 0 8 10
proj. < | S| |
~ o = < o
rzedne < < ™~ ™~ ©
istniejace |&@ P 3 3 R
— i — | L |
rzedne ‘,2 m o @
projektowel 3 3 3 3
i i i ]

R=0,00m? R=0.15m? R=0,00m?
PL=4,00m ‘ W:Z.Almz PL=4,74m W:2.48m§ PL=3,70m W—3.1lm§
km 0+020,00 N=0,02m | | km 0+080,00 N=0,10m | | km 0+130,65 N=0,08m? |
odlegtosci | S Q S 3 3 2 odlegtosci |53 2 0 S 8 3 3 odlegtosci |5 ] X S 0 g 3
istn. o ~]| | o N 0| | istn. ~ ©| N S| o N [ istn. ~N 10| | o S| ™ o
odlegtosci 0 S S 0 3 odlegtosci g 3 [y S 0 I odlegtosci 3 0 =] 0 3
proj. o N IS | o proj. 19| o | o | o proj. < | o | o
© [o2] (=] o] < o) [o2] n L0 (=] ©| O 0| [l ~ ~ L0 O ™) L0 |
rzedne =2 ) ™~ © < < N rzedne 3 3 0| < S @) N.I rzedne 4 | 3 - < 3 -
istniejace | 3 P P 3 P 3 istniejace |& P 3 3 3 3 P istniejace |& 3 P P 3 3 I
| | | | | | i | | | L | | | | | | | | | i
—
rzedne Q f\r_ 2 ﬁ 013 rzedne 8_ f, 030, E 030, § rzedne Lroc ':1 §, ;\rl. E‘,
projektowe] § § § § § projektowe § S S S S 3 I projektowe § § ) 3 S
R=0,00m? R=0.21m? R=0,00m? ‘
PL=4,00m W=2.34m? PL=5.11m W=2.44m? PL=2,60m W=3.37m?
— 2 ! — 2 — 2
km 0+021,37 N=0,00m | | km 0+100,00 N=0,05m? | | km 0+140,00 N=0,02m? |
| — B — T \ — A ——|
odleglosci [ s o) B Bl g gI odlegosci [} g Q B gl s ggI odleglosci [, 2§ 2 sl o s L«gI
istn. ) N 3 o [ 1) © istn. ~ © 3 o (= ™ ™ istn. ~ © 1) [ ol o o (3]
odlegtosci 3 0 S 0 3 odlegtosci 2 3 0 S 0 3 odlegtosci 3 S 0 3
proj. N | S | o proj. < o | S | N proj. < 3| S | o
(o2} o © N~ [o2] < < - | | < [e2] ™ O ™ © l32] | (2] ™~ © 0|
rzedne a ~ < © < < ™) rzedne < | < ) N ™o rzedne o | | ol 9 S 9
istniejace 3 3 3 3 3 3 3 istniejace 3 3 3 3 3 3 I istniejgce 3 8 3 3 3 I 3 3
— | = ’:I 5 H‘_' | | — | < | % :‘I i % 5 i | K | | | ; | 5 = | |
rzedne ':f, 2 ~| ~ ';. rzedne % 0 1 :rF @ 3] rzedne 8 :I | = —
. < < < . )| < < < < . < < < < <
projektowe] Q S ) Q 9 projektowe] e Q S S Q ) projektowe] 3 3 Q ) S
R=0.38m? R=0.35m? R=0,00m’
PL=4.30m W=2.40m? PL=4.92m W=2.45m? PL=3,05m W=2.93m?
! — 2 ! — 2 i — 2
km 0+040,00 N=0,09m I | km 0+120,00 N=0,00m* | | km 0+155,65 N=0.13m* |
_odlegIoéci g 8 g 8 f{ S gI _odlegloéci 4 8 3 8 5 8 LOI _odlegloéci % a g 8 ;{ 8 gj
istn. © 1) ~ =) o < [T} istn. © © 3V o — (3] (<) istn. ~ [Te) « o| o ™ ™
odlegtosci 2 2 0 S 0 3 odlegtosci 2 3 g S 0 I odlegtosci 3 0 S [y 2
proj. o N | S| | o proj. o o | S| | N proj. < o ol | o
< [\ N~ o [\ hn) [=2] o N~ o < o < fee] (2] N~ fee] o N~ N~ N~
rzedne 2 < © © < ~ N rzedne ™ - ™) N N N rzedne @ © 2 o o) ©  ©
istniejgce 3 3 3 3 3 3 3 istniejgce 3 3 3 3 3 3 I istniejgce 3 3 8 8 9 8 3
i i | | i i | i i | | | i | i i | o | | | |
o s © o © < [ © @ N @ © (@] N o ©o <
rzedne | : : v; : g rzedne | : : : : :r‘ rzedne o o| : : g
i sy i [92] i sy <
projektowe] 3 9 9 9 9 9 projektowe] < 9 9 9 9 9 projektowe] 3 3 9 9 9
= 2 R=0,00m? ‘ 2
Re0.20m W=2.33m? = W=2.33m? R=0,00m
| PL=4,62m N_O.l 4mz | PL=2,70m N_0.02m2 | PL=3,00m w=2.48m?
+ =0,14m | + =0,02m ' - 2
km 0+060,00 km 0+126,65 | km 0+159,65 N=0.00m? |
odlegtosci (&3 15 2 8N 3 8I odlegtosci & & g 8 -3 8 (oI odlegtosci | o ~ o o| o o ~
istn ~ d c\r So o P istn < 4 N 3 S @ o odegiosells i 0 @ SIS SIS
. . istn. ~ o| 0| 3 o| o ™| o
odlegtosci Q I 0 S 0 3 odlegtosci 3 [y S [y I odleglosci ° o ° o °
proj. 0| o | IS | o proj. o | IS | o proj :’ : 8 : 2
< < @ ~[<] 0 ~] ) ~ — o) ~ o o :
edne |2 3 3 o 3 3 zedne | 2 g e e e (8 Y 8 8 K 5 8
istniejace =1 = = S = = istniejace = = 3 = = = = istniejgce 3 8 3 3 8 3 8 3
o ) © o © © N < © < N =l =l =l =l - =<
rzedne = w© o © o o rzedne N N N N N rzedne 3 3 5 3 3
projektowe 3 3 3 3 3 3 projektowe] 3 3 3 3 3 . < < < < < |
= — — - — - — — - — - projektowe Q 9 9 9 Q

R=0.30m? ) R=0.37m? )
PL=5,41m W=2.64m’ PL=4,83m w=2.91m
| km 0+180,00 N=0,00m I I km 0+260,00 N=0,00m I
pdlegloéci ;1 3 © g 5 S 3 pdlegIoéci B S 3 @ S 0 3 3
istn. ~ ©| o [SI=] o ™ istn. © 0| %) | [S) | < w0
odlgglosci 91 3 0 8. 0 8 odlggIosci 8 8 0 8. 0 3
proj. < [ | o | 3 proj. < 3 | o | [
(o2} (=] [o2] (=] [o2] [Te] 8y © L) < < — | I |
rzedne @ ~ < of @ o 9 rzedne © < e < @ < o@f N
istniejgce § § § § § § § istniejgce § § § § 3 § § §
< o] o < o © N © 0 o 0 ©
rzedne < @ S 9| o @ rzedne 2l ~ ~ @ ~ ~
projektowe b 8 8 8 8 8 projektowe b 8 8 8 8 8
1 — — — — — et — — — — —
R=0.41m2 ‘ R=0.28m? ‘
- 2 — 2
PL=5,24m W=2.41m PL=3,82m W=2.31m
) - 2 - 2
| km 0+200,00 N=0,00m I | km 0+280,00 N=0,08m I
v L I M/ x I I
| |
odleglosci |5 g @ 9 3 5 3 3 odlegtosci @ 3 N 5 3 19 g 49
istn. ~ O o o S| of o (3] istn. ~ <| 0| | S| | <| L0,
odlggIoéci o 3 0 S 0 3 odlggIoéci I 3 0 S 0 3
proj. < o | S| | o proj. <| o | S| | o
o o (2] N~ © ™ (=) o n [e2] [y2] y2] ™ 0| © N~
edne |38 2 3 I 3 mae |5 4 g 5 o g 3
istniejgce g9 g < © < < © istniejgce © < < < © < < <
o) ~ (2] f32) (=2} ~ < oo} o < o ©
rzedne < o =] | o © rzedne N & R Ny R 8
projektowe 9 3 3 3 3 3 projektowe] 9 38 3 3 3 3
— — — — — — - — — — — —
R=0.20m? R=0,00m?
PL=4,29m W:2.39m§ PL=4,00m W:Z.llmz
| km 0+220,00 N=0,09m I | km 0+300,00 N=0,06m I
L —F B E— = |
odlegtoéci | Q| = - S Q 3 gI odlegtosci |9 2 5 ~ S 9 Q S gI
istn. © < | S | o < istn. ) | o | S | N <«
odlggIoéci = 2 0 S [y 3 odlggIoéci 3 [y S 0 I
proj. < o | =) | o proj. o | =) | o
(o] < © ™ ™ o) o (o] wn 3V} | © D (32 (32 < —
medne |33 4 3 : E 3 5 rzedne |G A o - a3 3 3
istniejgce e 9 < < © < < < istniejgce < < < < © < © < ©
— n ~ [l ~ wn < © o © <
rzedne < @ @ g L @ rzedne © © ~| © ©
projektowe] 2 § § @ § § projektowe] § § § § §
|
R=0.25m? R=0,00m?
_ W=2.88m? PL=2,50m W=2.24m?
PL=4,22m _ 5 g _ 5
| km 0+240,00 N=0,00m | | km 0+320,00 N=0,06m |
|~ -
odegiosaills g g g g g 2 g g odlegosci g 1] g g 3 8 g
istn. [t} < ™ i o o o < < istn. < ™ ol o o o <
odlggIosu 8 3 p 8 p 8 odIggIosm 8 p 8 p 3
proj. < o B o B N proj. N B o B o
n 0| o] fee] [o2} 0| fe] 0| — N~ 00 0| © O © o
rzedne v ~ | | @ < | ) ™ rzedne by ) o < N ™
istniejace |D 3 3 3 8 3 3 3 8 istniejace |8 & 8 8 3 g 8
=] | | | i | | | i i | | i | | i
@ 0 (2] 0 @ N © N
rzedne 3| < < x| o o rzedne = © © © ps
: o) [} o %) [} %) ; 3 ™ 7] ™ 3
projektowe] g 9 9 9 9 9 projektowe] 9 9 9 9 9

R=0,00m?

PL=2,15m W=2.00m?
| km 0+340,00 N=0,14m? |
pdlegloéci 3 ] P S S S B
istn. < o ol ] | ™ ™
odlggloéci 3 0 S 0 8
proj. o | o | o
0 [e2] [e2] O L0 ©O| [o2}
rzedne bt ol ol 1 < o ©
istniejgce |@ 3 3 3 3 3 8
| | | | | i
rzedne 3 & R 8 3
projektowe 8 8 8 3 3
- - — - —
R=0,00m?
PL=1,74m w=1.92m?
| km 0+350,00 N=0,08m? |
odlegtosci [ b S 8| 5 ggj
istn. ~ (%) | o | o3|en
odlggloéci 3 0 S 0 3
proj. o | S| | o
N [Te] 0| ™) [o2] (LD
rzedne N N~ N~ ™~ < O]
istniejgce [© ©| ©| ©| ©| ©|©
— | | | i |
rzedne g, 8 & 8 ?5,
projektowel 3 3 3 3 3
— — — — —
R=0,00m?
PL=1,26m W=2.14m?
| km 0+360,20 N=0,06m? |
I S — ;:F_I
_odlegIoéci g o 8 0 gI
istn. < | (=) ol 3]
odlggIoéci 3 0 8. 0 5”.
proj. [ | =] | 3
N (8N fee] © ~|
rzedne 2 S S S )
istniejgce 3 3 3 3 8
i | | | |
rzedne ﬁ ﬁ, % ﬁ, N
projektowe] 3 3 3 3 3
— — — — —
R=0,00m?
PL=0,00 W=2.72m?
|rn km 0+363,00 N=0,00m? |
odlegtosci 12 S S 3 ﬁI
istn. o~ | ] ol (%)
odlegtosci |18 S S 0
proj. RN S| i N
o < fee] [{e] N
rzedne :. N N N N
istniejace |& P P 3 3
i | | | |
rzedne [N & & & &
projektowe|d py 3| 3
| | | | i

R=0,00m? 2 50
PL=0,00m W=2.59m>
| km 0+365,20 N=0oom
odlegtosci |Q S =]
istn. o S o
odlegtosci |Q = Q
proj. o o| N
~ ™~ o)
rzedne «® « )
istniejace |& P 3
| | |
rzedne <'7: <'7: 3
projektowe| & 3 3
— i i
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Projekt wykonawczy

Budowa drogi dojazdowej do gruntéw rolnych
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